
SAP ABAP table THDS_NODET {Text Table for THDS_NODE}

THDS_NODET

CLIENT [CLNT (3)]

SPRAS [LANG (1)]

APPL_ID [CHAR (20)]

TREE_ID [CHAR (30)]

NODE_ID [RAW (16)]

T000

MANDT [CLNT (3)]
 THDS_NODET-CLIENT = T000-MANDT 

0..N

0..N

T002

SPRAS [LANG (1)]
 THDS_NODET-SPRAS = T002-SPRAS 

0..N

0..N THDS_NODE

CLIENT [CLNT (3)]

APPL_ID [CHAR (20)]

TREE_ID [CHAR (30)]

NODE_ID [RAW (16)]

 THDS_NODET-NODE_ID = THDS_NODE-NODE_ID 

0..N

1

THDS_TREE

CLIENT [CLNT (3)]

APPL_ID [CHAR (20)]

TREE_ID [CHAR (30)]

 THDS_NODET-TREE_ID = THDS_TREE-TREE_ID 

0..N

0..N


